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DEPARTMENTAL EXAMINATIONS
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Maximum Time : 30 minutes Maximum Marks : 20

o

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamer@gM euens elarmsgmar

Read the following instructions carefully before beginning to answer the questions.
eflaméaensE ellawellss Qsm_hiGb (pea SDEsmTL iDH6|eTHMET SEUETLONE Ll &&6|LD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender. -
@bs siPenssdle e urdaflar eurrsmssailen, GoaECapu CameuiLiger Guear
umellemfles euUmTSenGa(EHLD <L BiGLD.
This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.
@Qps lemsbsrgllmer sarsrafliurarier  sigiwd CunEsDHE et  EpSssaLTE.
sansrasiiurant eleamsQsrguiiamear pliuspE @iwsd afisse e elamstgrElbaman Spos!
efleni_weaflss QM _migamid.
This question booklet contains 20 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 _minutes after which no request will be entertained.
Qeucilamsgrar 20 Qamar@gdl s ellamssmer Geram g eSlara@riugnyTser eflen_waflée
QsmLmiEbd aper, elamgsrafldy eream efamasend @b QupmeTarareur erarUmsWb, gCsabd S
usstigear / elemsser FALLILLMod NHULHeTatareur eremuMmSWD FRUMTSSE QETeTareawb.
damssraier gCsaib Gop @muler alamgsreaas Qupp Gar uss O RSEREGT @D
samarefliiureriiLb Qsfelss Cauam@w. Sign@ Yng Asfelssuu@n Carfismaser ggib gnmné

QameremiLILLOmL L Tg).

Answer all questions. All questions carry eqﬁal marks.
Siwansg damsseErsen darwallss Couadm@n. Smarssg eflamésend owrar HUPumTEET

QameaTLeney,
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

Aemamriiugtyier ufQauamamanr Qaedamssraier God uag LEESSD SiFHEsaT GEGsUULHeTeT
AL erps CeuamBib. eNemmgsmatas Caupl aTangud eSS &l g,

The sheet before the last page of the question booklet shall be used for any rough work.
Aamssraiear a8 LsssHDE per usssHe rough work el LnTés 2 LCWSl5516 QararaTeyd.

(a) Each question comprises of four responses ie. (A), (B), (C), and (D). Candidate shall
select only one correct response. In case, if the candidate feels that there are more than
one correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(©) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) gaQaurm Qamedn@n (A), (B), (C), D) eer prenE oL adr Wsr@&sULL (66T,
edemramrignyi Seunfle gCaaib @ sflwmear edevLapws Cairey Qe CeuamBHLd. GETMSS
Guput L sfwurer elaLser g clameinE QEUUSTS shEame, Seuphled ereuciianL s
sllureng erar smegdHisGar, sduelaamwu Bl (G sre Geuetr(HLb.

b) eaareudean, e ddamelbeE @Cr g elemLmus srar CaibesH6s Ceauater(HLd.

© o6 Gardde gapée Copull alLmsafd eflenwell&asliul g BGHsTd eueilaL
SUDTaTENS &HSLUULM, cuafarmedpE wHIGLIET auPhIGILIL DT LTS

(d OMR el s srefer GhssuLlL eflurar el smary WuTDSs), Qg wHUQAUGTSET
aupistLED (@@ damelhe en el Lsd (GHUarL) Sl eflen GG wHUGE LT
uipriis saadla) eT(hiGgis GararaTiu@LD).

Do not mark the answers in the Question Booklet.
Aamgsraiier ellensamerd GHUILE saL g,

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

AereiiLsmyit, odamssrallen abs @ Lsssmsw, fesCaur bz dfissbar saLrg. Cairey
panl_Qugid Cung), ellamssreer Csiey sl fezeli ( deueliCu ad5s! Qedve gl SlenLwing).
Gg,r'fsu Wiy ps GerenCy eflamgsrener oT(HSSIF Qedre sigwdlasiuBeur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cupsar. sifamrsalsds gCsab WBpuu@CLwreamd Gsieimmenruid ah&GL s amar [
BL Uy &en&dE 2-arerms GCoifl(Hid.

In case of doubt, English version is the final.
Aenraseiar s5Css8 @ 1dar, pmida ageld dar@asiul Herar MemésCar @miSluires).
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gpulati()n increases in a —— ratio, as explained by Robert Malthus.
(A) Proportionate ﬂ) Geometric
(C) Arithmetic (D) Progressive

wéseT Asreans Geaalssda oifsfsdng aenm rwgen Sa Mg
(A) aﬁ]aa'g,rrét&rrg LT AN (B) Qumsse elgssle '
(C) &Ll elzsse D) eueri&d) elgssle

refers to the rate of death occurring per thousand new born babies.
(A) Natality ‘ (B) Mortality
‘/C) Infant mortality (D) Death rate

<27 APEGLD GRHDSEERHES G oI5 erarig)
(A)  Nply B) e ulimLer @miiy
©) @Ewbos GnsebCUTs @pps Gpiy (D) @piy eSsb

The Planning Commission of India defined poverty on the basis of
(A) Income - (B) Consumption
\/{C) Calorie intake of food (D) Employment

@nHwus S L &G ‘Thambemw’ Gger Sllg LuenLu9ed euen FWmISSICTeng.
(A)  eugpOTELD B) msiey
(C) e amey Qurmer epab@umb &Gemfl (D)  Geuemeaeumiiiy

The difference between NNP and NDP is
(A) Depreciation
" (B) Current transfers from rest of the world
(C) Indirect tax
\/D) Net factor income from abroad

far pri® epusdsen (NNP) flar eempr@ o pLSHGED (NDP) @en Cu 2 erar
GeumimL_resg) :

(A) Cswiwmenid

(B) o edar Gp ugdsalladBBg HLLIL LIHHLD

(C) wenps el |

D) GeefiprPsellembs e Hers smanf aimeum
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5. There was plan holiday in India from
V) 196669 B) 196163
(C) 1980-84 7 (D) 2002 - 2004

@rdurede S elBpen eflésiulL sTas LD

(A) 1966 -69 (B) 1961-63

(C) 1980-84 (D) 2002-2004
6. The birth of economics of education was announced by

(A) Marshall g (B) Karl Marx

‘/E) Schultz (D) Keynes

saoedl Lpdu Qurmelweme 2 Heursalweur

(A) orTewe (B) &myed omiésen

(C) evsL e | D) Sena

T Median can be located graphically with the help of

(A) histogram /‘B) ogives
(C) bar diagram (D) scatter diagram

@erLHlanes Sjatenay 1Gemal(pid QuMTLLSEET epaLd GHeRTSE L (plgU|LD.

(A)  ugeue QFeueusy LLLD (B) qeaseu

(C) uleL MeTdsliL b (D) Sspe edarssLLLLD
8. Which measure of dispersion ensures highest degree of reliability?

(A) Range . (B) Mean-deviation

(C) QD /(D)' S.D.

185 BIDLIGS SETENLOL|L G DAGTEHGLD Hsmed SiaTene Wrg)?

(A) &liss (B) sgyrafl elevssnd

(C) sréwmar elew&sd D) &L efevdsd
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9

10.

11.

12.

(
B

Qf cov(x,y) =0then

A) x and y are correlated
) x and y are uncorrelated
(C) x and y are not linearly related

(D) x and y are linearly related

cov(x,y)=0 erafled

(A)  x wHmb y &@ @G L (Hmey 2 emerg|
B) x wHpb ¥ &P Cw el Hney Gome
(C) x, y CpiCan_ (s Qs e wg Goeme
D) x,y CurCGar_(®s QgL iLenL g |

The author of scarcity definition 1s

(A) Adam Smith (B) Samuelson

(C)  Alfred Marshall D) Lionel Robbins
S LiLmenio @) evdaanmgsler <8 flwim

(A) L evsls B) arepCeucgen

(C) e 97 mTaged D) Qewene Fmierev

The basic force that drives the capitalist economy is

(A) Planning (B) Technology

(C) Government \/(D) Profit — motive
wsaralsgieusms QUsED SigliLmL F&SWNs eileTs Geag)

A) Hlofie (B) Qgmflemnub
©) s D) @emrubd

Utility is a
(A) Social concept ﬁ) Subjective/psychological concept
(C) Political concept (D) Scientific concept

Liwesrm(h) erenLig)

&) o5 &6

B) e dr@pemTiey EMMHS HHILD 2 eTelled &HSS!
(C) sirdlen smsgl ‘

D) ifledlwe smSs)

5 028/DD/20
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13. In the long period
)  All factors change
(B) Only variable factor changes
(C) Only fixed factor changes
(D) Variable and fixed factors remain constant

et STV EHE e

(A) e sryenilgEnb WTHID

B) rmib &mryent WL B LIHILD

(C) o smyenfl LD LIHILD

(D) wrmd wHYD WIYT STFeflEeT Hlenauims B (HEGD

14. The initial supply price of land is

\/(A) Zero (B) Greater than one
(C) Lessthanone (D) Equal to one
Hlavgdem b iaflii e |
A)  ymsHubd B) @am&ED ST
(C) @am&ED G®DaTaTE D) @EMm&EESLD FLLTEF

15. Average fixed cost is obtained by dividing

A) TC/Q B TFCQ

(C) TVC/Q (D) None

synafl wipré Qsee) @sama aGsEL Curgl HoL &G

(A)  gnem/an) (B) en@em/ @
(C) sagem/am) ) (D) ergajbleena

16. Perfect ‘competition is a market situation where we have a single seller
(A) a single seller (B) two sellers
ﬁC) large number of sellers (D) few sellers

Benpe|s Gumig Stiamg e srarTiLIBLD bleane
(A) Gy elpuenarwimart l (B) @uewr(® edpueaTITETT

(C) eramaflsamaudaar edlpLimemumart D) S eApueenmen

028/DD/20 6



17 .Profit are the reward for

18.

19

20

(A) land (B) capital

(C) labour ' ‘/(D) organisation
@eorubd GsnaTer Q@J@mﬁ

@)  Paw B) wpapend
(C) =emply (D) ey

The central problem in Macro Economics is
‘/(A) Income and employment - (B) Price and Output
(C) Interest and Money (D) None
Cuilwe Quir@ermsTrgdled enowil) Grésener
(A)  eumwreapd CeuamaeveumiiLibd (B) edeweowyb Geuaflui@Lid
(C) euliguyb LemrpLd (D) ggdloeme
A coin is tossed 6 times. Find the number of points in the sample space.
A) 12 B) 16
(C) 32 \/(D) 64
@ BraRTb 6 e s LILGE DS aeafle ampbeaafluiie o drer Quwrss Laraflser
@) 12 (B) 16
€ 32 (D) 64
A random variable x has E(x)=2 and E(x2)=8 its variance is

A) 4 (B) 6
v

€ 8 D) 2

x @ sweumiiy ol E(x)=2, E(x2)=_8eefle) Sigen ommiuim’ L ereney

(4) 4 ‘ B) 6
€ 8- D) 2

7 ' 028/DD/20
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IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
afeurar el well&Eb euamns eflemggmer

Read the following instructions carefully before beginning to answer the questions.
elamésEnsd ellawellss Qgm_migb (pery EpsaamL 2ihe | E@eT SaUGTLONS Liig &86] D,

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.
SenL_samer @HILIGL Gerer aramanlismad@ ifswrs awpdulmuder, AenLssmafler @mduded e erer
=15 rarafsmsiarar efleL s LAUTE AaiuCuLTE.

bo

In case of doubt, English version is the final.

Aarmaseiler sbCsa8 M1 den pmdle augelld Aar@aaiiuBerer aSenméaCer @mSuimerng,.
I Define the following : (Answer any Five questions) (5 x2=10)
@mm@maﬂmmmm efeufl : (gGsa@Ib @b aﬁ]smrrages@a;@ HenLwieflée)

1. Explain the concept “Economics Development”?

QUINBETTSTY GUETTES] GTENMTE GTemen ?

2. Write a note on National Population Policy 20007
Csw wésaT Qprenad Gararams — 2000g LD a(Yss.

3. Why do we resort to sampling?
eren mird s sexfllienu prHECHmD?

[Turn over



4, What are the forms of capital?

{
PLPEOS TGS 6T Gl QUMBISET WITENE?
5. What is discrete probability distribution?
H&fl5S LIjaued G| GTeuniTed cremen’?
6. Define cropping pattern.
LUdrpenmEniL U W DISSELD.
7 What is a pay-off matrix?
2jaflGse ienf] eremmmed eresen? |
I1. Write short notes of the following : (Answer any Five questions) (5 x 4 =20)

Ssam_aupean HnGHiy eiens : (FCsaId BHS AamésEnse e waflés)

1 Explain the need for economic planning.

QueTTETTES & S L IPsadlar Seudlwsams aflaufl?

o

Write a notes on Reserve Money.

Aruy uabd — Sy GHILY T(PEis.

S Distinguish between total and marginal utility.
QurssLs Lwerun(), @g@gﬂémwu Lwearum® Caumubégis.

4. What are the functions of entrepreneur?

Qs mfle penarGeaumflen Lanflser wiraned?

5. Write about the disinvestment of public enterprises?

Quirg Bmeuaiisaflen Lk elassmas L GHLCL(SIS.

6. - Explain rules of tabulation.

il L auemantliL(Hdsedl e el pepmaer wmeneu ?

7. Examine the characteristics of a good average.

peve enreflufern SigliLienL GUILSET Wameu?

028/DD/20 2



III. #Discuss the following : (Answer any Five questions) (5 x 10 = 50)

o

SpsaaT_aupmp edairdéseb : (gCs@Ib BHI eNamEsE@hsE enweflss)

Perimetro scheme was implemented in Tamilnadu and the purpose of the scheme is to
provide quality vegetables cultivated nearby districts to the public at the lowest cost as well
as reasonable price for the benefits of the farmer. In the above study prepare a methodology
and scope of the study? '

QuEpsy smush QsmEly eeiédld FHrib sllpagde Qeuou@ssiul( amang
QsH L gHan Cprésd QLGRaEG®ET @Ligujenar el L hisafle asrushaenar LWL G
BEILGESEEREE —Srorar  STUsHlEmET  (G@palTar dAeoasailer FHHASHGD  LLOHHLD
efeusmis@nse e-fu elmasd deaLssa|b @SHLD AwpoUOSsUULE aumEDg. QBHs
AL gHnsner ymiEspenn (Methodology) wpmitb Crréssslener (Scope) eeu?

What are the basic characteristics of underdeveloped countries?

Yengmdw prpaseafier SnliweLiger wrene?

Describe the functions of commercial banks.

auarla euriidlsaflan Lanflaamer eflers@s.

Explain features, merits and demerits of socialism.

FLOGMDSE e LIGRTL|SEaTLLD, SIDLIL|&EMETL|D, GanasmeTLLD 65aTEEE.

Examine the functions of central bank.

eoww euduler Lanllsamear eferddlu|emrésalid.

What is meant by consumer price index number? What are its uses?

BTGt elanaé @muil 6L e eremmed eremen? SleuM e LIWLISSET WTeneu?
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